DIVISION WITH A REMAINDER (H - SET 3)

DIVISION WITH 1 TO 10 1;;1 Soomer |
181 32243 -5 = 06 7182+ 5 =
1) 41067 = 5 = 197) 24166 + 8 =
183) 7122 = 3 = 108) 27309 + 5 =
18 17603 = 9 = 199) 36410 =~ 5 =
185) 88799 = 9 — 2000 18546 + 5 =
156) 1492 =— 2 = 20) 6592+ 1=
187 26819 =— 7 = 202) 30533 = 10 =
185) 8196 =~ 6 = 203) 5762 + 1 =
189) 1454 =— 1 = 209 20064 = 10 =
190) 16060 = 8 = 205 9505 + 2 =
191 37793 = & = 2060 56052 + 6 =
192) 4471 =— 4 = 207 12162 = 3 =
193) 17517 + 8 = 208) 50923 + 6 =
09 41941 =7 = 209 6135+ 1 =
195 9043 + 4 = 2100 53088 + 9 =

Mathematics: Division - Level 7 - Horizontal - Set 3
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